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112}

14.

15.

16.

17.

18.

19.

20.

21.

a) 3.3660 cm b) 4.0392 cm

c) 5.3856 cm d) 6.7320 cm
What is the degree the angle between

the minute hand and hour hand of a
clock when it is 8 : 30 am? [All B.- 18]

a) 105° b) 90°
c) 75° d) 60°
Which one is the correct value of
65°42'? [D.B.- 17]
a) 65.5° b) 65.6°
c) 65.7° d) 65.8°

Which one of the following is the

radian form of 60°? [R.B.- 17]
a) 3.1416 b) 3.0419
c) 2.0419 d) 1.0472

What is the angle between the hour
hand and the minute hand at time 8 :

20 am? [Dj.B.- 17]
a) 140° b) 130°
) 115° d) 110°

What is the angle between hour hand
and minute hand of a clock when it is

1:20 pm? [C.B.-17]
a) 80° b) 90°
c) 100° d) 111°
2° = What? [Ctg.B.-17]
a) :—5 b) ;‘—0

¢ ¢
) oo d). -5

The diameter of a wheel is 3.1416
metre. What is the circumference of

the wheel? [S.B.- 17]
a) 31.007 metre

b) 19.739 metre

c) 9.870 metre

d) 7.752 metre

Which one is correct? [J.B.- 17]
a) r=s0 b) s= g

C) r= g d) s=r0

== What? [B.B.- 17]
a) 43°32'38" b) 32°43'38.18"
c) 38°32'43" d) 32°38'43.18"

1 Radian = What? [D.B.- 16, R.B.- 15]
a) 60° b) 59°17'44.81"
c) 58°17'44.81" d) 57°17'44.81"

22.

7,

24,

25.

26.

27.

Radius of a circle is 5 cm. What is
measure of central angle based on 13

cm arc? [D.B.- 16]
a) 0.38° b) 0.38°¢
c) 2.60¢ d) 2.60°

In an isosceles triangle equal angle are
70°. What is another angle in radian?

[C.B.- 16]
9

T
a) 5 b) o
) = dy =
The angles of a triangle are in
arithmetical progression and the
smallest angle is half of the largest
angle. What is the value of largest

angle in circular system? [Ctg.B.- 16]

i e
T
N 9 3
In which quadrant does in (9.;— 9)
lie? [Ctg.B.- 16]
a) 15t b) 2nd
c) 3¢ d) 4"

N

In the figure sin@ = ? and O is the

centre of the circle then-  [S.B.- 16]
i. Circumference of the circle is 2.
ii. Area of the circle is .

iii. Value of 8 is g.
Which one of the following is correct?

a) iandii b) iandiii
c) iiandiii d) i,ii and iii
[J.B.- 16]

i. Circumference = m X radius

ii. Radian angle is a constant angle.

iii. 1 Radian is expressed in 1R.
Which one of the following is correct?
a) iandii b) iand iii

c) iiandiii d) i,ii and iii
















37.

38.

39.

40.

41.

42.

43.

44,

[Ctg.B.- 17]
a) 12 b) 13
) 14 d) 15

If the angle between AB and AD is 0

then tan® = What? [Ctg.B.- 17]
3 2
C) B . d) 7
If cosB = - and 0 is acute angle then
cosecO? [Ctg.B.- 17]
3 2
9 3 D 3
If sin3A = cos3A then which one is the
value of A? [Ctg.B.- I7]
a) 15° b) 20°
c) 30° d) 40°
l)
6cm
R o
In figure then what is the length of
PR? [S.B.- 7]
a) 2v3cm b) 4v/3cm
¢) 6v3cm d) 12cm
What is the value of sec (Zn—z)?
[S.B.- 17]
2
a) —VZ b) —=
2
) 5 d) V2
What is the value of cos (— 2ST")?
[J.B.- 17]
2 V3
N b) 5
1 1
©) 3 9 %
What is the value of tan (?)?
[B.B.- 17]
a) —1 b) ——=
1
C) E d) 1
If cosB = —% and m<@ 337“ then

which one of the values of tan0?
[B.B.- 16]

45.

46.

47.

48.

a) —V3 b) %

c) 1 d) V3

When cos® = % then sin38 = What?
[B.B.- 16]

2) 0 b)

0 5 d) 1

If cosa = — % while < a <7 then

what is the value of a? [S.B.- 16]

a) j?p b) i?p

c) = d) -’

If P =E and Q = ‘%" then what is the

value of cos(P + Q)? [C.B.- 16]
a) —1 b) 0
c) 0.5 d) 1

If secO + tan® = 5 then (sec® —

tan®) = What? [R.B.- I5]
a) —5 b) —:
0) = d) 5










3)
c)

b)
d)

= R
AN R

|fsinA=§and0<A<2nthen—

[D.B.- 19]
. _ T
I. A—;
i. A=
3
ii. A=
3

Which one of the following is correct?
a) iandii b) iiand iii

€) iandiii d) i,iiand iii
sin’@ = % when m<0< 37“ then

which is the value of 6? [R.B.- 19]

b)%ﬁ
c)%ﬁ d)%ﬁ

b1
a)g

10. If secf = 2 and =% < @ < 7 then- [C.B.- 19]

i. tanf =—/3
i. sing=—-2
2

iii. cosf = %
Which one of the following is correct?
a) iandii b) iiand iii
¢) iand iii d) i,iiand iii

11. If tan® = —\/5,2 <0< 37" then what is

12.

13.

14.

the value of 6? [Dj.B.- 19]
TC 2T
a9 3 b) <
41T 5T
0 = ) %
sin@ = ¥ then where

V2
sin@® and cos0 are of equal sign. In

which quadrant does 0 lie? [J.B.- 19]

a) First b) Second
c) Third d) Foruth
In which quadrant the angle (—980°)
lie? [All B.- 18]
a) First b) Second
¢) Third d) Fourth
What is the value of (seczg+
. ZE .
sin?)? [S.B.- 17]
2 1
a)is b) -
17 9
) 7 d S

~10 ~

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

sin?(—0) + cos?(0) = What?

[B.B.- 17]
a) —1 b) 0
c) 1 d) Undefined
Find the value of coszg—sinzg is-
[D.B.- 16]
1 1
D b) =3
What is the value of sin(120°)?
[D.B.- 16, 15]
V3 1
a) = b) 3
1 1
C) \/_E d) R
The angle 520° lies: on which
guadrant? [R.B.- 16]
a) First b) Second
c) Third d) Fourth
Which of the following is the value of
sin (2m = 3)? [R.B.- 16]
V3 1
a) ) b) 3
V3 1
C) e d) —3
What is the value of cos (211 + E) is -
[J.B.- 16]
V3 o
) =5 b) %7
V3 o
) ) 7
In which quadrant —240° angle is
located? [D.B.- 15]
a) 1st b) 2nd
c) 3rd d) 4th

12sin%?0 — 14sin® + 4 = 0 then 6 =

What? [0 < 8 < ] [D.B.- 15]
a) 0° b) 30°
c) 45° d) 60°
tan (—1140°) = What? [R.B.- 15]
1
a) —V/3 b) —-%
1
0) = d) V3
If sin® + cos® = V2 then 8 = What?
[R.B.- 15]
a) 30° b) 45°
c) 60° d) 90°
In which quadrant lies the angle
—230°? [C.B.- 15]







37.

38.

Answer to the question No. (37 — 38)
from the above figure:

In APOQ, tan = What?  [B.B.- 15]
3 2
a) _E b) —5
¢) V3 d)
In APOQ, cot8 + cosec?6 = What?
[B.B.- 15]
19 7
a) — b) =
0) - d) 2

~12 ~

Creative Questions:

1. P = 3tan’0 - 4v/3secO0+7 and Q =

15sin%A + 2cosA where A is acute angle.
[D.B.- 20]
a) Express 30°15’36" into radian.
b) If P=0and 0 < 6 < 2x then find the
value of 6.
c) If Q =7 then find the value of tanA.

-

B

a) Show that: COSZ + COS-E + COS— +
10 10 10
V3
cos— = 0.
10

b) If 8 = 60° and r = 50 km then find the
time to go from A to B with speed 5
km/hour.

c) From an equation with the sum of
square of cot and cosec ratio of 8 angle
equal to 3 then solve the equation, where
0<6<2m.

If f(X) = cosx then — [R.B.- 20]

a) Iftang = % then find the value of cosecé.

b) If f(6) + f(g — 6) = /2 then determine
the value of 6, where 0° < 6 < ~.

c) If f(g— ) + f(6) = V/2f(0) then prove

that, f(6) — fCC — 6) = V2f(C - 6).

3

4. \/3sinx —cosx = P and cot(5- — B) = Q.

[Dj.B.- 20]
a) An arc makes an angle 30° of circle
with radius 10 cm. Find the length of the
arc.
b) If Q = v/3 then prove that, cos3B =
4c0s3B — 3cosB.







14.

15.

16.

17.

18.

on the surface of the earth which
subtend an angle of 7° at the centre of
the Earth?

1-M-N _
N-M-1

1+P

b) Prove that, T

¢) If P2N — = 1 then find the value of 6,
where 0 < 0 < 2m.

A = 15cos?a + 2sina, g <a<

m,and B = 3sin?0 + 5cos?0. [B.B.- 19]

a) Prove that, Radian angle is a constant
angle.

b) Find the value of cota if A=7.

c) Find the value of 6 where B = 4.

P =tan® +sec® and Q = cot?0 +
cosec?0. [All B- 18]
a) Determine the value of sec6 — tan6.

__2p
b) Show that, cosb = = 0

c) If Q = 3 then solve the given
equation where 0 < 6 < 2.

sinA+cosA=P and Q =secO —

tan6. [D.B.-17]

a) Express 32'4" in radians.

b) If P = 1 then prove that, sinA —
cosA = +1.

c) Find the value of 6 where as Q =

(V3) ™" (Where @ i acute angle),

B =
[C.B.- 17]

A = secO + tan0 and

( 2511)
COS|\——— .
6

a) Find the value of B.
b) If A = x, then show that, sinf =

x2 -1
x2+1

¢) Find the value of ® when A =+/3
and 0 < 0 < 2m.

If cot® + cosecO = m then [C.B.- 17]
a) Find the value of cosecB — cot6.
b) If m = 2 then show

sin® —cos®+1 1+ sin6
sin® + cosb — 1

that,

cos®

~14 ~

19.

20.

21.

22.

c) If m = +/3 then find the value of 0 <
0 <2m.

If f(x) = sinx then - [S.B.- 17]

a) Find the length of the arc which
subtends an angle 60° at the centre
of a circle with radius 5 cm.

b) If af(6) + bf (g — e) = c then prove

that, af (g = e) +bf(6) =
+VaZ + b2 — .

c¢) Solve: f(x) + f(g — x) = /2 where

0<x<?2m

If 7sin’0 + 3cos*0=p- [J.B.-17]
a) Ifo= gfind the value of P.
b) If P=4 then prove that, cotd =

+4/3.
c) If P=6 and 0 <6 < 2r find the
possible value of 6.

A = xcos0 and B = ysin0, where 0 <
0 < 2. [B.B.- 17]

: A?  B?
a) Find the value of — + —.
x2 'y
b) If A+ B =7 Prove that, xsinf —
ycosO = +./x% +y? — z2.
c) If xX2=3,y2=7 and A?+B? =
then find the value of 6.

sinO — cosO + 1
sin0O + cos6 — 1

Suppose P = and Q=

secO + tan0. [B.B.- 16]

a) If tan10x = cot5x then find the
value of x.

b) Show that, P = Q.

¢) IfQ=+3and0 < 6 < 2m then find
the value of 6.







